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   Part – III    Time : 2½ Hours 

   POLITICAL SCIENCE Cool-off time : 15 Minutes 
  Maximum : 80 Scores 
 
 

General Instructions to Candidates : 

 There is a ‘Cool-off time’ of 15 minutes in addition to the writing time. 

 Use the ‘Cool-off time’ to get familiar with questions and to plan your answers. 

 Read questions carefully before answering. 

 Read the instructions carefully. 

 Calculations, figures and graphs should be shown in the answer sheet itself. 

 Malayalam version of the questions is also provided. 

 

    15   ‘  ’  .  

 ‘  ’     

 . 

      . 

    . 

  , , ,    

. 

   . 
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PART – I 

A. Answer any Four questions from 1 to 6. Each carries 1 score. (4  1 = 4) 

 

1. __________ was the First part of India to hold an election based on Universal Adult 

Franchise.  

 (a) Hyderabad (b) Manipur (c) Kashmir 

 

2. Tashkent Agreement was signed by _________ and __________. 

 (a) Rajiv Gandhi and Lal Denga 

 (b) Indira Gandhi and Sheikh Mujibur Rahman 

 (c) Lal Bahadur Shastri and Mohammad Ayub Khan 

 

3. The Official Congress candidate in the Presidential election of 1969 

 (a) N. Sanjeeva Reddy (b) S. Nijalingappa (c) V.V.Giri 

 

4. Name the leaders who raised the following slogans : 

 (a) Garibi Hatao (b) Jai Jawan Jai Kisan 

 

5. Choose the military alliance formed by the Soviet Union. 

 (a) NATO  (b) CENTO (c) Warsaw Pact 

 

6. Which country adopted an “Open Door Policy” ? 

 (a) China  (b) Japan (c) USA 

 

B. Answer all questions from 7 to 10. Each carries 1 score.   (4  1 = 4)  

7. Who is known as the Milkman of India ? 

 (a) Varghese Kurian (b) J.C. Kumarappa (c) M.S. Swaminathan 
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PART – I 

A. 1  6    4   .             

1  . (4  1 = 4) 

 

1.       
  ________ .  

 (a)  (b)  (c)  

 

2.      _________, __________  . 

 (a)      

 (b)       

 (c)        

 

3. 1969       
_______  .  

 (a) N.   (b) S.  (c) V.V. 

 

4.       .  

 (a)   (b)      

 

5.        
  ? 

 (a)   (b)  (c)   
 

6. “  ”   . 

 (a)   (b)  (c) ... 

 

B. 7  10     . 1  . 

         (4  1 = 4)  

7. “ ” .  

 (a)    

 (b) ..  

 (c) ..  
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8. Identify the leader of Swatantra party. 

 (a) A.K. Gopalan (b) C. Rajagopalachari (c) Shyamaprasad Mukharjee 

 

9. Which of the following country is not a member of ASEAN ? 

 (a) Malaysia (b) Thailand (c) Nepal 

 

10. Identify the leader behind the formation of BSP. 

 (a) Kanshi Ram (b) B.P. Mandal (c) Nehru 

 

PART – II  

A. Answer any 3 questions from 11 to 15. Each carries 2 scores.  (3  2 = 6)  

11. Write any 2 objectives of Jawaharlal Nehru’s Foreign Policy. 

 

12. Some statements relating to the Ist and IInd Five Year Plans are given below. Arrange 

them in given table. 

 - The plan was prepared under the leadership of P.C. Mahalanobis. 

 - Gave emphasis to agricultural section. 

 - To bring quick structural transformation. 

 - K.N. Raj played leading role in drafting the plan.  

Ist Five Year Plan IInd Five Year Plan 

- - 

- - 

 

13. Brief note on “Common but Differentiated Responsibilities”. 

 

14. List out any four incidents that influenced Indian Politics since 1989. 
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8.    .  

 (a) ..  

 (b) .  

 (c)   

 

9.     . 

 (a)   (b)  (c)  

 

10. ...     .  

 (a)   (b) ..  (c)  

 

PART – II  

A. 11  15    3   

. 2  .     (3  2 = 6)  

11.         .  

 

12.   ,       
    .    
  .  

 - ..    .  

 -      

 -    .  

 -   ..   . 

        

- - 

- - 

 

13. “   ”   
 .  

 

14. 1989       4  
.  
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15. Match the following :  

(a) Sardar Vallabhbhai Patel  Hyderabad 

(b) Nizam Tryst with destiny 

(c) Nehru Vishal Andhra Movement 

(d) Potti Sriramulu Integration of Princely States 

    

B. Answer any two questions from 16 to 18. Each carries 2 scores.  (2  2 = 4) 

16. Briefly explain the ideologies of Bharatiya Jana Sangh. 

 

17. In the contemporary politics of India there was an emerging consensus among political 

parties on many issues. Identify the areas of consensus. 

 

18. Explain the causes for the ethnic problem in Srilanka. 

 

PART – III 

A. Answer any 3 questions from 19 to 23. Each carries 4 scores.  (3  4 = 12) 

19. Examine the role of SAARC as a forum for facilitating co-operation among the South 

Asian countries and identify its limitations. 

 

20. First three General elections marked the features of Congress dominance. What are the 

factors which contributed to the dominance of Congress Party. 

 

21. Explain the political and economic context of 1967 general election in India. 

 

22. Find out the political and economic consequences of Globalisation. 

 

23. Point out the arguments of India for a permanent membership in the UN Security 

Council. 
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15.   :  

(a)      

(b)    

(c)     

(d)    
 

    

B. 16  18    2   

. 2  .     (2  2 = 4) 

16.       .  

 

17.         
 .     
.  

 

18.     .  

 

PART – III 

A. 19  23    3   

. 4  .     (3  4 = 12) 

19.        
       .  

 

20.      
 .    
  .  

 

21. 1967       
 .  

 

22.      
.  

 

23.       
 .  
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B. Answer any one question from 24 to 25. Carries 4 scores.  (1  4 = 4) 

 

24. Write a short note on Cuban Missile Crisis. 

 

25. What is Green Revolution and explain its consequences. 

 

PART – IV 

A. Answer any 3 questions from 26 to 29. Each carries 6 scores.  (3  6 = 18) 

  

26. Kashmir issue is not just a dispute between India and Pakistan. It has also internal and 

external dimensions. Discuss. 

 

27. Partition of India was painful and difficult task. Discuss the cosequences of partition. 

 

28. Explain the consequeces of Indo-China War. 

 

29. Some new sources of security threats are given below. Explain. 

 - Terrorism 

 - Health Epidemics 

 - Global poverty 

 

B. Answer any two questions from 30 to 32. Each carries 6 scores. (2  6 = 12)    

 

30. Discuss the capabilities of European Union to develop as an alternative centre of power. 

 - Economic influence 

 - Political and diplomatic 

 - Military 
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B. 24  25       

. 4 .     (1  4 = 4) 

 

24.       .  

 

25.       
.  

 

PART – IV 

A. 26  29    3   

. 6  .     (3  6 = 18) 

  

26.         
  .  .  

 

27.         . 
   .  

 

28.       .  

 

29.       .  
.  

 -   

 -    

 -   

 

B. 30  32    2   

. 6  .     (2  6 = 12)    

 

30.        
.  

 -   

 -    

 -  
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31. Describe various issues related to regional aspirations in North-East region. 

 - Demands for autonomy 

 - Secessionist movements 

 

32. Prepare a note on Narmada Bachao Aandolan. 

 

PART – V 

 Answer any two questions from 33 to 35. Each carries 8 scores. (2  8 = 16) 

33. Discuss the background and causes which led to the declaration of Emergency in India. 

 - Economic context 

 - Gujarat and Bihar Movements 

 - Conflict with Judiciary 

 - Judgement of Allahabad High Court 

 

34. The American Hegemony has military, economic and cultural dimensions. Describe 

three different aspects of Hegemony. 

 

35. Describe the reasons for the disintegration of Soviet Union.  

_____________ 
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31.       

 .  

 -     

 -     

 

32.       .  

 

PART – V 

 33  35    2   

. 8  .     (2  8 = 16) 

33.      

  .  

 -    

 - ,    

 -     

 -     

 

34.      

.      .  

 

35.     .  

_____________   
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